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11-20 45 40 35 30 25 20 15 10 5 0

Answers

1. ÷ 10 4

2. × 10 2

3. ÷ 10 4

4. × 10 1

5. ÷ 10 1

6. × 10 1

7. ÷ 10 3

8. × 10 4

9. ÷ 10 2

10. × 10 2

11. ÷ 10 3

12. × 10 1

13. ÷ 10 2

14. × 10 3

15. ÷ 10 2

16. × 10 2

17. ÷ 10 2

18. × 10 1

19. ÷ 10 4

20. × 10 4

Solve each problem.

1) 8,100,000 ÷ 10 4 = 810 2) 0.4667 × 10 2 = 46.67

3) 9.033 ÷ 10 4 = 0.0009033 4) 38 × 10 1 = 380

5) 9,400 ÷ 10 1 = 940 6) 95 × 10 1 = 950

7) 0.4722 ÷ 10 3 = 0.0004722 8) 41 × 10 4 = 410,000

9) 800 ÷ 10 2 = 8 10) 49.71 × 10 2 = 4,971

11) 12.11 ÷ 10 3 = 0.01211 12) 53 × 10 1 = 530

13) 1,000 ÷ 10 2 = 10 14) 0.7616 × 10 3 = 761.6

15) 0.7832 ÷ 10 2 = 0.007832 16) 1 × 10 2 = 100

17) 900 ÷ 10 2 = 9 18) 3.458 × 10 1 = 34.58

19) 731 ÷ 10 4 = 0.0731 20) 247 × 10 4 = 2,470,000
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